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SA-EY.B(BH) - PN - BES 04l &4 4 p/E-L HI RS2
A0 1,284,429 1,337,358 ~52,929
Fol oWy Ho &3 180,653 206,063 £ 25,410
SEHO A48 29 180,653 206,063 £25,410
BHEY W B2(AHD) 56,243 59,999 ~3,756
201 et Y| 13,129 15,829 ~2,700
02 222 9,567 12,267 £2,700
OF A 7,521 10,221 A2,700
o1 24| 23 2,000,0008 * 90/100 1,800 4,500 A2,700
206 T 2 bl 22,204 22,300 ~96
EEL 22,204 22,300 96
oydg R 2H 1,703,2602 1,704 1,800 £96
301 YptE A 0 960 £960
09 BALAIHI 2 &2 0 960 960
O W SA0ITSI S & S
23 o0 0 960 £960
TTANE L FHRNB2I(L4B) 37,140 55,204 £ 18,064
401 Al HI L 2 THHI 1,936 20,000 £ 18,064
01 A&l 1,936 20,000 £ 18,064
o=z 24 23 1,936,0002 1,936 3,000 A1,064
OMEE CZAL Z| 23 o 0 10,000 £10,000
OMSHED x| 23 o0 0 7,000 A7,000
FOARNRNMESY 11,410 15,000 £3,590
201 Yet2 Ayl 9,910 13,500 £3,590
01 At 2H2l | 8,490 11,500 £3,010
Oslol+g ZH 7,490,0002 7,490 10,500 £3,010
03 A2 1,420 2,000 A 580
OFQINA HPAs AAS JH 1,420,0002 1,420 2,000 A 580
FOIHOSA XN (L4E) 1,036,694 1,062,213 £25,519
FHUS MM (L28) 1,036,694 1,062,213 ~25,519
ARD FOIHAA (L4E) 795,000 795,000 0
401 Al HI L 2 T 795,000 795,000 0
01 A&l 795,000 795,000 0
OD0k2 OIS ZH & OH2 %M 2| (L=1,812n)
2™ 26,490,0002 26,490 26,486 4
OAe1 A& 42 & (L=120m)
2H 12,142,002 12,142 15,601 ~3,459
Oge2 k2 A&l (L=80m)
2H 19,417,009 19,417 30,000 A 10,583




2N
X ZH -
L= B
el

SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
O=81 E=2 =2 & Xl (L=160m)
2 & 28,589,000 28,589 30,000 1,411
O=cl3 =2 ZHbl(L=20m)
3 & 10,230,000& 10,230 10,000 230
OL2d1 40t =2 &l (L=100m)
3 & 19,219,000& 19,219 20,000 AT81
O=281 s2EE M 16,000 0 16,000
272 MAlSFAE (A+H) 241,694 267,213 N25,519
401 AIEBIZ 20 241,694 267,213 A25,519
01 A€ HI 241,694 267,213 N25,519
O2ZHd3 s2 M=+ (60m) Z& 14,551,000& 14,551 15,845 N1,294
O2d2 =0t THaol =+ (350m)
& & 5,228,000& 5,228 5,691 AN463
O=S&81 MEMai=7(150m) 2 8,985,000& 8,985 9,817 A 832
O=282 = AE A A Mt =+ (200m)
3 & 27,919,000& 27,919 29,452 A 1,533
OA22 MEAME o=+ (30m)
Z & 5,938,000& 5,938 6,545 A607
OAed2 FEZ2=2 L M MH=7(350m)
3 & 14,822,000& 14,822 16,362 A 1,540
O3E& H&EMai=7(150m) Z& 22,045,000 22,045 29,452 AT, 407
OsZ&E s=ZMol=7(40m) Z& 23,571,000& 23,571 26,179 A2,608
OAed2 B ACHETHHE T (15m)
&3 7,845,000& 7,845 8,345 A500
OZH2 A=AotETHHS T (56m)
d & 18,116,000& 18,116 20,473 2,357
O=cl2 H=ActETHHEF(15m)
23 6,519,000& 6,519 6,935 A416
o2& ASA6HA T ol =7 (44m)
2 &23,851,000& 23,851 26,454 A2,603
O=cl3 s=MH=7(970m)
d & 14,400,000& 14,400 15,305 A 905
OAg2 22 ME Ml =+ (50m)
d & 13,350,000& 13,350 14,726 A 1,376
OA22 Neltis2 Mol =+ (6m)
2 & 10,422,000 10,422 11,453 A 1,081
OA2 ZZMEMETHH S 7 (125m)
23 1,956,000& 1,956 1,990 N34
OAd2 AR AMETHH = (40m)
Z 3 982,000 982 995 A 13
MBI (A=) 67,082 69,082 2,000
Jl=23dl(A=¢) 67,082 69,082 2,000
JlE2Zdl(A=8) 67,082 69,082 22,000
202 o4 Hl 28,692 30,240 A 1,548
02 A0t 28,692 30,240 A 1,548




SH: Aao
HE: HYP YA (L4E)
Sl DI A (A401) CERED
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hus2
SEEE] Z3 28,692,009 28,602 30,240 21,548
405 TH&HF St 5,548 6,000 A452
01 MU 2B St 5,548 6,000 A 452
OF-ES] 2% 398, 1302 399 500 A101
o=z AT 242,008 242 300 N
OS2 A KIS A 1,206,480% 1,207 1,500 £293




